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Q8bii  Pr(at least one ball is not selected)  

−= 1 Pr(none is not selected) 

−= 1  Pr(each ball is selected exactly once) 

6
7

!6
1−=  

 

Q8biii  There are 6
7C  ways to select 6 different balls out of 7, 

and 1
6C  ways to select the remaining ball out of the 6 already 

selected balls. The 7 balls can be arranged in 
!2

!7
 ways.  

.: Pr(exactly one of the balls is not selected) 

57

1
6

6
7

7

!63

7

!2

!7

×
=

××
=

CC

 

 

Q8ci  β is a root of ( ) 01
2

2
1

1 ... azazazazzP n
n

n
n

n ++++= −
−

−
−  

.: ( ) 0... 01
2

2
1

1 =++++= −
−

−
− aaaaP n

n
n

n
n βββββ  

.: 01
2

2
1

1 ... aaaa
n

n
n

n
n −−−−−= −

−
−

− ββββ  

01
2

2
1

1 ... aaaa n
n

n
n

n ++++= −
−

−
− ββββ  

01
2

2
1

1 ... aaaa n
n

n
n ++++≤ −

−
−

− βββ  

01
2

2
1

1 ... aaaa
n

n
n

n ++++= −
−

−
− βββ  

MMMM nn ++++≤ −− βββ ...21  

.: ( )1...21 ++++≤ −− ββββ nnn M  

.: ( )1...
21

++++≤
−−

ββββ
nnn

M  
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If 10 << β , M+< 1β  since 0>M . 
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in the form of ( )zP . 
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c

c
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No real α can satisfy the last inequality, .: 
( )

0=
nc

xS
 and hence 

( ) 0=xS  has no real solutions. 
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